
       Email @    jbtechautomotive@gmail.com or  Call  (435)-757-7868                                                                               

SBF Coil Bracket Installation Instructions 

 

Congratulations on your purchase of a set of JB-Tech coil brackets! Please take a 

moment to read the included installation instructions, if you have any questions or 

concerns, please feel free to contact us. 

 
 Packing List 

Qty: Item: 

2 Coil Plates 

12 Plate Standoffs 

12 1/4-20 X ¾ Bolts 

12 1/4-20 X 1-1/4 Studs 

16 1/4-20 X 1 Bolts 

 

 Installation: 

 

1. Remove all contents and verify quantities. 

2. Install 1/4-20 X 1-1/4 studs into valve cover rail of heads, screw in until bottomed. 

3. Install valve cover gasket over studs and valve covers. 

4. Install the 12 Plate Standoffs onto the exposed section of stud, tighten to 35 in/lbs. 

5. Install Coil Plates onto standoffs using the provided 1/4-20 X ¾ bolts, tightening to 

35 in/lbs. 

6. Install Coils using the provided 1/4-20 X 1” bolts tightening to 20in/lbs. 

Additionally you can apply a small drop of blue 243 locktight to each bolt. 

  

    


